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_._Al_gebra 2 Notes 4.1 6raphing Quadratic Func’rion_i ‘

The graph of a quadratic equation is a U - shaped curve called a ,/4/’4 Af/ﬂ-/

The vertical line that passes through the vertex is called the 4)’/.3' 47[ 54”7/%’/7[!%

Quadratic function: f(x) = ax® + bx + ¢ when a does not equal 0
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» The x-coordinate of the vertex is / Z Aa (substitute this x vall;le to find y)
iy '
e The axis of symmeftry is the vertical line / B 7: ; {*4)( 7
) V!t‘ L, 6
e The y-intercept is /ﬂ) 4 ) ' ax? /,7/7‘/;.
7 7 ) ’f'/ s‘jﬂo
For each of the following examples:
1. Find the y-intercept
2. The equation of the axis of symmetry
3. Find the x coordinate of the vertex
4. Make a table of values
5. Graph the function
a’ f(x)= x%+6x+8
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f(x) = -x%-2x+2

Axis of Symmetry:

y-int x-coordinate of the vertex
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Ex 3 f(x)=z2x%-4x+3
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y-int x-co;r‘dincn‘e of the vertex
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Maximum and Minimum Values

. ¢ Ifais positive, the parabola opens ‘/K Z
o If ais negative, the parabola opens 6;&(///7 [ﬂ

e Ona parabola that opens up, the lowest point is called the /77//7/”7#”7

* On aparabola that opens down, the highest point is called the /774/Y/ W”W

e The maximum or minimum value is the l/ “fﬂﬁf@éb? 7€ of the vertex.

For each of the following examples:
1. Determine whether the functions has a max or minimum
2. Find the max or min value
3. State the domain and range of the function
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